QP Training Course
MD – Taxation Answers


Chapter 15 Profits Tax: Basis Period, Change of Accounting Date and Losses

Answer 1
1.
Mr Lee commenced trading in 2015/16. His first accounts end in 2015/16 therefore his assessments will be as follows:

2015/16 – 1 May 2015 to 30 November 2015
2.
Mr Po commenced trading in 2014/15. However, as his first accounts end in 2015/16 and cover less than 12 months, there will be no assessment in 2014/15.

2014/15 – no assessment

2015/16 – 1 February 2015 to 31 July 2015
3.
Mr Ping commenced trading in 2014/15. His first accounts end in 2015/16, however, as they cover a period of more than 12 months, the Commissioner will decide the basis of assessment. It is possible that the Commissioner will decide to apportion the first accounting period as follows:

2014/15 – 1 August 2014 to 31 January 2015
2015/16 – 1 February 2015 to 31 January 2016
Answer 2

Year of assessment 2015/16
Basis period: 1 April 2015 to 30 June 2015
	
	$
	$

	Profit for the basis period ($18,000 x 3/9)
	
	6,000

	Add: Relevant profits (s 18D(2A))

(Profit from 1.10.14 to 31.3.15 – $18,000 x 6/9)
	12,000
	

	Less: Transitional amount*

(Profit from 1.10.74 to 31.3.75 – $18,000 x 6/12)
	9,000
	

	Excess of relevant profit over transitional amount
	
	3,000

	Assessable profits
	
	9,000


Answer 3

The year of change was 2015/16. The basis period would normally be 12 months to 30 June 2015. In this case, the profit for the period 1 July 2014 to 30 September 2014 will be assessed in both years of assessment 2014/15 and 2015/16 if it has no compelling reasons for the change of accounting date.

L Ltd

Year of assessment 2015/16
Basis period: 1 April 2015 to 30 June 2015
Assessable profit before depreciation allowance

$24,000 x 3 months / 12 months + $27,000 = $33,000

Answer 4

Global Limited

Year of assessment 2015/16

Basis period: year ended 31 December 2015

	
	
	$

	Adjusted profit
	
	1,400,000

	Less: Depreciation allowance
	
	150,000

	Assessable profits
	
	1,250,000


Year of assessment 2016/17

Basis period: year ended 30 June 2016

	
	
	$

	Adjusted profit for the period 1.7.2015 to 31.12.2015
	
	

	($1,400,000 x 6/12)
	
	700,000

	Adjusted profit for the six months to 30.6.2016
	
	600,000

	
	
	1,300,000

	Less: Depreciation allowance
	
	180,000

	Assessable profits
	
	1,120,000


Year of assessment 2017/18

Basis period: year ended 30 June 2017

	
	
	$

	Adjusted profit
	
	1,800,000

	Less: Depreciation allowance
	
	120,000

	Assessable profits
	
	1,680,000


Answer 5

(a)

If a business changes its accounting date, the CIR is empowered to compute the profits for the year of change and the previous year on such basis as he thinks fit.

(b)

The year of change is 2016/17.

Choice 1: Bring forward the change to 2015/16

Year of assessment 2015/16

Basis period: year ended 31 December 2015

	
	
	$

	Adjusted profit for 1.1.2015 – 30.6.2015
	
	

	($1,200,000 x 6/12)
	
	600,000

	Adjusted profit for 1.7.2015 – 31.12.2015
	
	

	($2,520,000 x 6/18)
	
	840,000

	
	
	1,440,000


Year of assessment 2016/17

Basis period: year ended 31 December 2016

	
	
	$

	Adjusted profit ($2,520,000 x 12/18)
	
	1,680,000


Choice 2: Change in 2016/17

Year of assessment 2015/16

Basis period: year ended 30 June 2015

	
	
	$

	Adjusted profit
	
	1,200,000


Year of assessment 2016/17

Basis period: year ended 31 December 2016

	
	
	$

	Adjusted profit ($2,520,000 x 12/18)
	
	1,680,000


Choice 3: Postpone the change to 2017/18

Year of assessment 2015/16

Basis period: year ended 30 June 2015

	
	
	$

	Adjusted profit
	
	1,200,000


Year of assessment 2016/17

Basis period: year ended 30 June 2016

	
	
	$

	Adjusted profit ($2,520,000 x 12/18)
	
	1,680,000


For all three choices, the adjusted profits for the years of assessment 2014/15 and 2017/18 are as follows:

Year of assessment 2004/05

Basis period: year ended 30 June 2004

	
	
	$

	Adjusted profit
	
	950,000


Year of assessment 2017/18

Basis period: year ended 31 December 2017

	
	
	$

	Adjusted profit
	
	1,320,000


(c)

	Year of assessment
	Basis period
	Adjusted profit

	2014/15
	Year ended 30 June 2014
	$950,000

	2015/16
	Year ended 30 June 2015
	$1,200,000

	2016/17
	1 July 2015 – 31 December 2016
	$2,520,000

	2017/18
	Year ended 31 December 2017
	$1,320,000


Answer 6

If a partnership incurs a loss, the amount of loss allocated to a partner which is a corporation can be set off against the assessable profits of that corporation for that year of assessment: s.19C(5). NPW is therefore entitled to set off the loss sustained from Partnership 1 against the assessable profits of NPWL.
On the other hand, the amount of loss allocated to a partner who is an individual is to be set off against his/her share of future assessable profits of the partnership (s.19C(2)), unless PA is elected and the loss is transferred to and dealt with under PA (s.19C(3)). Therefore, the loss of Partnership 2 cannot be set off against the assessable profits of NPWL. If Nick does not elect for PA, the loss sustained by him from Partnership 2 can only be carried forward to set off against his share of Partnership 2’s assessable profits in subsequent years.
Answer 7
(a)

Loss incurred by HKCO, if agreed by the IRD, can be carried forward for set off against future assessable profits in line with the provisions in s.19C(1).
There is no time limit on the loss carried forward for set-off purposes.
(b)(i)

Kowloon Ltd cannot utilise the losses in HKCO. There are no provisions in the IRO for group loss relief
(b)(ii)

The tax position is the same for the case where Kowloon Ltd is a subsidiary of HKCO. A parent company’s tax loss cannot be used for setting off against a subsidiary’s assessable profits. There are no provisions in the IRO for group loss relief.
(c)
If HKCO is a partner in HK-Kowloon Partnership, its loss can be used for setting off against its 50% share of the assessable profits of HK-Kowloon Partnership (s.19C(4)). HKCO can utilise its own loss to set off against its share of assessable profits in the HK-Kowloon Partnership (i.e. limited to $20 million for the year of assessment 2015/16).
(d)(i)

If the management decided to close down HKCO in 2015 and leave it dormant, the agreed tax loss could still be carried forward. There is no time limit for the setting off of loss. Once the company is reactivated, the carried forward loss could still be used to set off against future assessable profits.
(d)(ii)

If the management decided to liquidate the company, the loss will lapse.
(d)(iii)

If the shareholders decided to sell their investment in HKCO to Paris CO, the tax loss in HKCO would still be carried forward. If there are commercial reasons for Paris CO to acquire the shares in HKCO, and the sole or dominant purpose is not for the purpose of utilising the tax loss, then the anti-avoidance provisions in s.61B would not be applicable and the agreed tax loss in HKCO can still be carried forward for setting off against its future assessable profits.
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